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1 The rato of face-down cards to the whole set. :
1 The ratio of face-down cards 1o facewup cards.

4. The ratio of face up cards to face down cards

Cr. 1ertearatlooftrucksmbonesforeadtplcture =

Problem:
The Student Council is selling bouguets of daisies and tulips. The ratio of the number of daisies to the number of
twlips is the same for all of the bouquets. Use the information in the table to figure out the missing values,

Number of | Number of Daisies | Number of Tulips

I

2
3

2

60
In each bougquet the ratio of daisies to wilips is




